AU=AH=0=q w w= (
w = nRT In(P/Po) = 10x 8.315x 298x In(100/1)
=114.11 kJ

[] 349 kJ/mol

C:HsOH(g) — 2C(g) 6H(g) O(9) A H = 3225 kJd/mo

1 5 C-H 1

1 C-O C-H
C-O0

c-C

C-O0 = 3225 - 413x 5 - 348 - 463 = 349 kJ/mol

] 0.115 kJ/K mol 0.032 kJ/K mol
(8.15)
A'S=405/351.7 = 0.115 kJ/K mol
A'S =5.02/158.7 = 0.032 kJ/K mol

[] 506.2 kg

2m’

80
891x 89.2x 0.8 = 63582 kJ
20 m g 50
4185x 50 20 x 1xm 125.6x mJ
125.6x m 63582x 1000
m 506.2x 1000 g 506.2 kg

[] 279 kJ/mol

C:HsOH(l) 30. — 2CO:(g) 3H:0() AH= 1367 kd/mol

H.(g) 1/20:(g) — H:0(1) AH= 286 kJ/mol
C( ) 0:g) — CO:(g) AH= 394 kJI/mol
C:HsOH(1)
2C( ) 3H:(g) 1/20:(g) — C:HsOH(I)

AH= 279 kd/mol

Cc-C

A H(

2x 1000/ 22.4 = 89.2 mol



[] 285.0 kJ

AH

A H=AH(CO:g)) AH(CO(g)) 1/2A H(O:(g))

0:

AH= 3955 ( 110 5) 0= 285.0kJ
[] A H'(298K)=(-348.3x 10°- 296.3x 10°)-(-206.0x 10’ + 3/2x 0) = -438.6 kJ
] 160.3 J/K

AS
AS=AS( ) AS( )
( )

A S’=AS(CaO) A S(CO.) A S(CaCOs)
= 39.7+213.6-93.0 = 160.3 J/K

[] 18.70 J/K

AS= R(1.00x In0.25 3.00x In0.75)
=18.70 J/K



